Statistical Reasoning		          Name ____________________________
Guided Notes 3.5:  Normal Distribution Calculations	                     	Date _____________________  Day ____

Normal Distribution Calculations
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On the driving range, when Tiger Woods hit his driver, the distance the ball travels follows a normal distribution with a mean = 304 yards and a standard deviation = 8 yards.
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1. What percent of drives travel at least 290 yards?

2. What percent of drives travel between 305 yards and 325 yards?

3. What distance would a ball have to travel to be at the 80th percentile of Tiger’s drive lengths?
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The BMI for males age 20 to 74 is follows approximatcly a normal distribution with mean ;i = 27.9
and standard deviation 7 = 7.8. Usc the 68-95-99.7 rule to find

a the percentage of males with BMI less than 20.1.

¢ the BMI values that correspond to the middle 99.7% of the distribution.
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